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QUESTION 1

CGE wants to upgrade to SQL Server 2014 in order to support backend SQL databases that will support 

the next Citrix environment. The key requirement is high availability for all nodes in the different 

geographical regions. 

What are the benefits of using a Hosted VDI FlexCast model with Personal vDisks? 

A. It retains the single-image management function while allowing end users to install applications. 

B. It provides a high level of security while allowing end-user customization. 

C. It has low storage performance requirements and high end-user density. 

D. It retains the single-image management function and reduces application compatibility issues. 

Correct Answer: D 

 

QUESTION 2

Why would the architect choose LACP bonding when configuring bonded network interfaces for guest VM networks? 

A. It provides load balancing of VM traffic across multiple physical NIC interfaces at a per guest basis, and offers
improved distribution of traffic across physical interfaces in the bond. 

B. It sends all guest VM traffic in the bond to an active interface, which provides the best distribution of network load. 

C. It uses a hashing algorithm, which provides better distribution of traffic across the interfaces in the bond. 

D. It uses a round robin load-balancing policy, which provides better distribution of traffic across the interfaces in the
bond. 

Correct Answer: D 

 

QUESTION 3

Why is manual image provisioning with SysPrep the appropriate image management process design for this
environment? 

A. This design allows for user installed applications. 

B. This design reduces the time required to provision new machines. 

C. This design allows the use of local user profiles. 

D. This design supports the use of customized language packs. 

Correct Answer: A 
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QUESTION 4

Why should disk I/O and page file utilization be used to identify bottlenecks? 

A. High disk I/O and page file utilization of the Delivery Controller can indicate a high volume of user logons, indicating
that the server may NOT have sufficient resources to handle the load. 

B. High disk I/O and page file utilization of the Delivery Controller can indicate that the target device will encounter
delays when mounting new vDisks. 

C. High disk I/O and page file utilization of the Delivery Controller can indicate that a high number of processor-intensive
applications are being utilized by the virtual desktop users. 

D. High disk I/O and page file utilization of the Delivery Controller can indicate the presence of a virus or malware. 

Correct Answer: C 

 

QUESTION 5

Scenario: The company is designing a cost-efficient environment for the call center workers. The IT department is
replacing the existing thin clients with newer models. 

What are the benefits of using Hosted VDI and manually installing the operating system? 

A. Highest user density and lowest cost 

B. Highest level of user personalization 

C. Lowest storage performance requirement and highest user density 

D. Lowest cost and highest application compatibility 

Correct Answer: B 
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